BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

1000 10*

100

rm043 2/(411494 5336)=0.924

T T T T T T F
' B 444394 00 ABIC 0.000 AlogP 0.0000
i X% 375412.59 Ax? 0.000 AlogP 0.0000 7
L ]
e -
i hm___e—e'i__e_e________'Blc
[ T~ -~ - - - - e - - - 1 2
i : ABIC —220991 : 1165 ( 1 X
i , A? —220991 : 1.5 «( |
5246 ; 5246 ; 5336
A . ; . ACs ;I . ACSF . .
20 40 60 80 100 120
120 iterations
rm043 2/(411494 5336)=0.924
T | T | T | |
i ' B 444394 00 ABIC 0.000 AlogP 0.0000 ]
X 375412 .59 AX 0.00Q AlogP 0.0000
""""""" 533 ]
_ _ACF ]
| L | L Iy
80 100 120
Fe2 34% 1004253 km/s
rm043 BLR 6860 NLR 900 km/s
i T T T T T T T T T T
R S S St G S NN
o ............dNR
| Fell
. . ]
100 120

120 iterations

kdh1 12-0ct-2021 03:42



